—— A
N = 0] &F AF S & AN A
2015 & 20 A LB H L, IIEIEE S H 20 X Jf 2t
A 20 X0
HM: 2 s dA
o9 THLERE =W EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=0 K OH &1t 3,151,442 304,860 2,846,582
Xl 1,000,000
&< 475,000
Al 1,676,442
ZHNE G235 133,780 103, 180 30,600
2R s =X 133,780 103, 180 30,600
LSTAZ 2HUE 121,780 91,180 30,600
201 et d| 11,100 2,880 8,220
01 AF2 2t 2| bl 8,880 2,880 6,000
OZMLBSEAH BEA(LEAHLIIEIAN)
160, 000& »3L *33| 1,440
OIS (90 & JIEAHN)
30,000& «1601 *33] 1,440
OF= &4FEA LDE2L2X LAI2ZA SXE
500,000& x6& 3,000
OF= &4FEA DE2L2X LA2ZA BES2
3,000,000 3,000
02 32%H| 2,220 0 2,220
OF= &4FEA DS2L2X A A4
200,000 x6& 1,200
OXNMEA S 424 OsH AT A
A EE 17,0003 x60H 1,020
202 044 30,000 30,000 0
03 2L 20| 30,000 30,000 0
O=ZHDNE AR =22 04| 30,000,000& 30,000
301 Bt A= 80,680 58,300 22,380
06 212to1 =22 (4 4] 45,000 25,000 20,000
ORS A2 2HRIA 2 202t =22 04H|
25,000,000 25,000
OXOHEA SMNE Z20H XA
20,000,000& 20,000
07 2Bl == 0N b 24,300 33,300 29,000
O=sty| (=8l) 250,000 x 1H x5 23| 2,500
O=x=etd| (8<) 75,0003 x6H x5 x2 3| 4,500
OAldl(F=8l) 50,000& x 1Y 52U %x23| 500
OAlHI(£=8<) 30,000& *6H x5 x2 3| 1,800
OXNMEZAl s& 44 O=Hd &4
250,000 x60H 15,000
09 HAIAHI B A Z 11,380 0 11,380
OZE= ME2EA WEZSX MY
400,000& x1H x6& 2,400
OZFE= ME2EHA WEZ2ZRL 2HAES
,000,000& 1,000




SN O D
Ha: 2N DE ASYS
©el: 2XLERE A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXMEA s& H24 o= 240 O
Rkl 133,000 60 7,980
NOHEAl EHA S S APEIHA X3 12,000 12,000 0
307 glz2+ol & 12,000 12,000 0
02 It M AHE X 12,000 12,000 0
OXMEA HEEES At A X
12,000,000& 12,000
I Nggd =4 2,987,692 172,420 2,815,272
X 1,000,000
< 475,000
Al 1,512,692
SOHXNY R 63,280 39,480 23,800
SHIHLER 2 61,480 29,680 31,800
201 Let24d] 11,000 11,000 0
01 At 22/l 8,000 8,000 0
O30 7= S K& AIR22H]
4,000,000 4,000
OO0IZS et At 22l | 4,000,000& 4,000
02 =224l 3,000 3,000 0
OXg =Xl 3,000,000 3,000
202 4l 7,480 7,480 0
01 S LHOIYI 7,480 7,480 0
Ob0lZetiHA L IHBAMHHRFZ
6,480,000 6,480
OLel=d =0l 1,000,000& 1,000
203 YR =&l 13,000 11,200 1,800
03 A F=XH R =AH| 13,000 11,200 1,800
O3 XML AHFXHSE=IH|
9,000,000 9,000
O=2Z2|a(T/FE) AMZAYDEAY|
4,000,000& 4,000
307 gl2tol & 30,000 0 30,000
02 IZHEHAHE L 30,000 0 30,000
OO0IZTHHHXI HAIRICHH# RS ESXNAS
30,000,000& 30,000
SHOIZSE s 29 1,800 1,800 0
201 Let24d] 1,800 1,800 0
03 &AL Z I 1,800 1,800 0
Ogtolzldgosl 2 1,800,000& 1,800
Bis 22E2 A2 723,012 91,540 631,472
< 470,000
Al 253,012




M SHXIOHL
Ny xs2e NALH =3
Sl BAS BYSD RA L CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Bits 22EF2 | 83,012 54,540 28,472
101 @124 dl 18,472 0 18,472
04 DIt 22 XREES 18,472 0 18,472
OEds A=z 22SH 2| oY 18,472
-Jl2s 41,9203 253 10,606
T4 41,9203 x52= 2,180
- A S A 80,000& »12& 960
-wE 2 A 60,000& 122 720
RS PNE =Ry 41,9203 x 10 420
“A2HRI 2R 7,860% x22Al 2t 12 2,076
-Fe2RE 62,8803 2«12 1,510
201 2et24d] 54,540 54,540 0
01 At 2teltl 10,000 10,000 0
OZEF =X LXE 10,000, 000& 10,000
02 =224l 44,540 44,540 0
OBds2Z2E22E II28 & 222U &I
= 1,000,000& »12& 12,000
OBMSHBST VXY ®II23
300,000 =12& 3,600
OBMs2ZST LdHEHA(SEU) M3
200,000 = 12& 2,400
OBNSHBSITE HE+ER3
170,000 128 2,040
OBMSAZERZTNSS AL (2HA)
3,000,000 3,000
Ot saZSIAFAI ¢ 2]
1,500, 000& 1,500
OEdsaadS+ |2l 20,000, 000& 20,000
401 AIEHI L 2 CHYI 10,000 0 10,000
01 A& HI 10,000 0 10,000
O=F0lttelol 2= 10,000, 000& 10,000
2=ol BEBST 5.0l RS A 40,000 37,000 3,000
< 20,000
Al 20,000
307 21240 40,000 37,000 3,000
< 20,000
Al 20,000
04 DIZHHALALSE E X 40,000 37,000 3,000
OZEF st0IREEN A 40,000,000 40,000
< 20,000
Al 20,000
BiEs 2FER S Y 243 TAMAAMS 600,000 0 600,000
= 450,000




2N
X ZH -
L= B

el

ZOXIHE B
X2 NAYH £
SME BBSD fX 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 150,000
201 et 250,000 0 250,000
< 187,500
Al 62,500
01 At 22l 8l 250,000 0 250,000
ONASAABAY (M DT S)
10,000, 000& 10,000
< 7,500
Al 2,500
OAECIEESE MAE 90,000, 000& 90,000
< 67,500
Al 22,500
O EHM= 100,000, 000& 100,000
< 75,000
Al 25,000
OOIOFII X & M= 50,000,000 50,000
< 37,500
Al 12,500
401 Al HI L =2 Tl 350,000 0 350,000
= 262,500
Al 87,500
01 A& HI 350,000 0 350,000
OK-POP EIDI{Rl Z& (BSIIPAIL) L THE
F=DN 350,000, 000& 350,000
< 262,500
Al 87,500
SIS EA 10,000 30,000 A 20,000
< 5,000
Al 5,000
HUmY U IE 220 10,000 15,000 25,000
= 5,000
Al 5,000
201 Let24d] 10,000 15,000 A5,000
< 5,000
Al 5,000
03 &AL Z I 10,000 15,000 25,000
Ootl=&d € JI% e=23HM8 S
10,000,000 10,000
< 5,000
Al 5,000
M3 R 5,000 5,000 0
IHa HHEA 5,000 5,000 0
201 et 5,000 5,000 0
02 2324l 5,000 5,000 0
Od=ANEZXAMEYE IHXE JIsE2E=
5,000,000 5,000

_4_




2N

S 04 X1 OH 2 ot

A XSE2 AL =X
Sl UNRIE S8 HNEY HE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ARINE St =4 = 2,186,400 6,400 2,180,000
Xl 1,000,000
Al 1,186,400
Bl XHAMS = & 4,800 4,800 0
201 Zet24] 4,800 4,800 0
01 At 22l 4,800 4,800 0
OQUXALH =& AL 22l i 3,200,000& 3,200
O&2I M2 & Afs &4 1,600, 000& 1,600
QIXtAE =& HAIR S 1,600 1,600 0
201 Let24d] 1,600 1,600 0
03 &AL S HI 1,600 1,600 0
OFHEHZ 5 A 1,600, 000& 1,600
&0l= stXMEOS =4 30,000 0 30,000
401 Al HIZ 201 I 30,000 0 30,000
01 A& HI 30,000 0 30,000
OsXIJtE & MEAE £ 30,000,000& 30,000
FEx ZZUHIONER MYEZ JIgtxH 2,150,000 0 2,150,000
Xl 1,000,000
Al 1,150,000
401 Al BIZ 201 8] 2,150,000 0 2,150,000
Xl 1,000,000
Al 1,150,000
01 A& HI 2,145,000 0 2,145,000
OFE2% BUHONES HUTR JIWEH
2,145,000,000& 2,145,000
Xl 1,000,000
Al 1,145,000
03 A& =2 THHI 5,000 0 5,000
OFE2% BUEHONES HUYTR JIWxH
5,000,000 5,000
HE2HZH(SHXINL ) 29,970 29,260 710
JI2Z (SR 29,970 29,260 710
JI2ZHI (S0 XN D) 29,970 29,260 710
201 ¢er24l 6,770 6,160 610
01 At 22l 6,770 6,160 610
ORN2Y AR 22l 6,770,000 6,770
202 044l 19,200 19,200 0
01 = LH o4 1l 19,200 19,200 0
OJlage=+a8udl (10d) 19,200, 000& 19,200
203 ¥ S =&l 3,000 2,400 600




=N N/ 3
D HE2YIH(2HINE D)
2 3HI(SHAIIHE D

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
04 NI 3,000 2,400 600
ORNM2ZI2FAHI(1521015t)
250,000 128 3,000
405 RHoHE S HI 1,000 1,500 A 500
01 AL EZFH S 1,000 1,500 A 500
(OEIE 2 1,000,000 »1CH 1,000




